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[T SN R HEE 9,400 1 B B4 a7 EE4L 1 9.000 1 B B4 aFEEs A1 9.100 1 HE g o0 g 8.700
2 HE g Lo5n RS9, 350 2 AR OBERRE oW #E 8.700 2 HE g Lo5n FE 8,800 2 e Ef L5 M1 8.550
3 R A o gL M1 9.300 3 Ik g Lo #£ 8.500 3 B OB Eon £ 8.500 3 Ny HzZE 50 A1 8.000
4 e ER EHn A19.200 4 e Ef LHn A1 8.350 4 B ER EHn A1 8,400 4 flFR OBERES LBV HE - 7.900
5 I8 Lun A1 9,000 5 /g HzE EHW A1 8.300 5 hE H7E LH A1 8.100 I R4 o MRS
6 /NE HZ%E JNA) /N1 8.800 6 i —& EHn A1 8,200 6 T L5 /A1 7.000 T % EH0n N1
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Nz EFH F—L% s  #Ba B2 EFH F—L% £  #Ba Nz EFA F—L% £  #BR B2 EFH F—L% £  #Ba
1 Bo Y SMC Mz 9.800 1 o e Y SMC A2 9.900 1 R fER T LAGC M2z 9.600 1 o e Y SMC A2 9.650
2 BT KR WEEHE p2 9.700 2 FHES REA YSMC A2 9,800 2 O e Y SMC A2 9.500 2 BT R MEFEHF A2 9.400
3 EM O EM TaAFEE 2 9.600 3 %@H& itz TLAXGC M2 9.700 3 FEE A Y SMC A2 9,400 3 OME A Y SMC M2 9,300
4 iR R TAAXGC M2 9,550 4 R IER Ta AR 2 9.400 3 BT AR WL R »2z 9.400 4w OEmM Ta AR 2 9.200
5 FHE_ A Y SMC h29.500 5 ﬂﬁ 35 EH A2 9.200 5 Venr K5 FLIPYE 2 9.300 5 tiE H2E EH A2 9.100
(VA SN T A — 29,450 [ SN TAY — 429,100 6 Il AR SRC 29,200 5 A BT TAY — A2 9.100
T K AE Lon 29,400 7 M AR Va AR h2 8.900 6 R FEK TAY — 29,200 79Il AR SRC M2 9,050
TR I&RE Va AR 2 9.400 7T ORMT & WREE D 2 8.900 8 L AE EHn A2 9,100 7R K TAY — A~2 9,050
9 I AR SRC M2 9,350 9 WA fEBR TAY— Mz 8.800 8 EM B Ta AR 2 9.100 9 M (hAv SRC M2 9.000
10 ZM._ALfr SRC 429,300 9 MM I FLIPYWEH /2 8.800 10 __[ff Ak SRC 429,000 9 Mg HEA TALRAGC A2 9.000
10 R B TAY— 29,300 11 ZH (LA SRC Mz 8.750 10 A B TR = 29,000 115 &R SRR T2 TT8.900
12 [EAy Ak SRC 29,250 12 Ay A SRC M2 8.600 12 ZH ARAT SRC A2 8,900 12 R A SRC 2 8.850
13 ¥ehr K55G FLIP¥YE 42 9.100 13 Il FR SRC M2 8.300 13 7 &5 Ta AR 2 8.700 13 Vet BEIS FLIPY&H 42 8.400
14 AR BYZ “EGC A2 8.900 14 #vk  BE- “EGC A2 8.000 14 A B TEGC A2 8,600 14 #vk  BE- “EGC M2 7.900
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Iz BEFE F—L& £ B2 :td BFE F—L% 2 B8 Iz BEFE F—Lf £ B4 :tod BFE F—LA 2 B8
1 &Y FiK T AY — N3 9.900 1 KiCH Y SMC 3 9.850 1 BEE Bl Y SMC 39,750 1 ZER BiMk Y SMC 3 9.750
2 KiTH & Y SMC A3 9,850 2 ZEJR GEME Y SMC A3 9.800 2 KitH & YSMC M3 9.700 2 Fkib mE Y SMC M3 9,600
3 FJE BiME Y SMC M39.775 3 Bl b Y SMC A3 9.650 3 Rkl m YSMC 39,500 3 KITH B Y SMC M3 9,550
4 FKii K Y SMC M3 9.750 4 HEH B AR E N3 9.450 4 FERE WA WEEEODE A3 9.400 4 HH BB HINUSE G A3 9.500
5 Flp_ HEME MR A3 9.700 5 BN B TAY— A3 9,400 5 o JER] NF 44— Jr 3 9.350 5 fEm__EK KHIEERZ 39,100
6 JEH JEK KHEDEE S s 9.600 6 K oHd KRB 3 9.300 6 HE Hisl PENCS - E 39,300 6 o IEEl NF 44— Jr A3 9.050
7K K KHEDEE s 9.500 7 OEIR P HT A M3 9,250 7 BN B TAY — A3 9,250 7KW KA SKHZhiRE 2 ~3 0 8.900
7 | IER] NF 44— Jr 3 9.500 8 M JEK KRB 3 9.200 8 MK S HEDSC 39,200 8 & WA WEFL 9% A3 8.600
9 FEE WA WEFE O F »3 9,450 9 Bl ¥ Lo M3 8.900 8 K Kid KHEDAE 2 3 9,200 9 ARG PR SRC M3 8.550
10 5 HFEzar EHn A3 9.400 10 i\ iEm NF 44— Jr 3 8.800 10 HE i HIRA A3 9.150 10 B ¥ LHW A3 8.500
11 By ¥ P 39,350 11 A ey HEVSC 3 8.700 11 Ry ¥ Lon 39,100 11 FaH fhd SRC 3 8.450
12 R Pl SRC A3 9.300 12 HR st Lo M3 8.500 11 Jgm &KX KHEDhEE S hs 0 9.100 12 wE N A A3 8.400
13 FAk ik BEDSC M3 9,250 13 R fHid SRC A3 8.300 11 FEHE Rk SRC A3 9.100 13 B HEA nEVSC 43 8.300
14 MR s EHn A3 9,200 14 R P SRC M3 8.250 14 e P SRC A3 9.000 14 B Bk TAY — 3 8.150
14 _EE i RN 43 9.200 15 R EA WL F A3 8.200 15 MJEfsE LHn 43 8.800 15 FJE fdst L0 A3 8.050
16 FH CfHAd SRC A3 9.100 16 &2 BEZIT Lo A3 8.100 15 2 gz Eown A3 8.800 16 &2 BEZI Lo N3 7.700
17 ¥R AT TEGC A3 8.900 16 {Hr “EGC 3 8.100 15 ¥Evr AT TEGC A3 8.800 17 VENT A “EGC A~3 7.500
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IR R 2=7 4 9.800 1 i =R Va AR h4 9.700 1 Kl BEh C SH7 ~4 9.500 1 e st R 2=7 4 9.800
2 Eh = Va AR 4 9.700 2 Vel 2R WRY2=7 4 9.600 2 filE A KA s4 9,450 2 hilE AR KHThikE 7 4 9.350
3 KW BBE C S HF M4 9,675 3 JbR =& LHn M4 9.500 RIS N ) R 2=7 4 9.400 3 P A TaA MR 4 9.300
4 (HEE EE Ta A HBE 4 9.650 4 (HEE L TaA R 4 9.400 4wy Ta AR 4 9.350 4 fm)Il TARXGC A4 9.000
5 AL BERE CSHIG M4 9.600 5 Il wEth TAHARGC 49,300 5 Ak =& LH a4 9.300 4 MM 2R Va AR a4 9.000
6 W rE R Va AR 4 9.550 6 g 3 R 2=7 4  9.250 5 KHE HAL VaAFRE 4 9.300 6 B i NF 4 — Jr A4 8.900
6 FilE A KHEDhEE S ha 9.550 7B O Va AR h4 9.200 5 BE fEEK HEDSC M4 9.300 7D Rk WEE 53 h4 8.850
8 BATES RN HZEVSC M4 9.500 8  hilE A KHAER 2 ha 9,100 5 A ffﬂi NF 44— Jr A4 9.300 8 At il LHn 4 8.600
8 4gith = R 2=7 k4 9.500 9 HHE EAR Va AR 4 9.000 9 M ZER Ta AAREUR b4 9,250 8 Ehk = Va AR 4 8.600
10 ARE AL Yo AR A4 9.450 9 7J<,,% B R o =7 4 9.000 9 K BBt CSHH M4 9.250 8 AHE _HEid Ta A R h4 8,600
10 &He HEA SRC M4 9.450 11 % HE HEDSC A4 8.700 11 fFk EA Ta AR 49,200 11 JRik K WL 9% h4 8.500
10 KE  BESH BRY2=7 4 9.450 11 B i NTF 4 — Jr M4 8.700 11 D A’ WEE9F 4 9.200 11 GHERGAD Htrs M4 8.500
13 Wi HE SRC M4 9.400 13 W0 K WEEDSF  h4 8600 11 % {fHE oL 4 9.200 13 & B ALY SC A4 8.350
13 N Wik HZEDSC 49,400 14 Pa[Es R HEDSC M4 8.500 14 g 3 R 2=7 h4a  9.150 13 K Bt CSHIFE 4 8.350
13 4l TLAGC A4 9.400 15 {mir {5 o) IEEL 4 8.300 15 )l TALAGC 44 9.100 15 44 3 R Y a=7 44 8.300
13 dekt =5 LB N4 9,400 16 Bl K WrEEOHE 4 8.200 15 HRE thE SRC 49,100 16 K& BEEH BRo2=7 i  8.200
13 {FCFn HIIA A4 9,400 17 EN MR SRC M4 8.100 15 KB B R =7 /~4a  9.100 17 PafEE K HEDSC M4 8.150
18 HmF  Ahik a; s 4 9.350 18 Fhili BEth CSHFH A4 8.000 15 N K BrEHSC 49,100 18 Fhil Btk C SHFE 4 8.100
19 #&# BiE HEVSC 49,300 18 Kk e SRC M4 8.000 19 R A MW EOHE  ~a 9.000 19 N K HEDSC M4 8.050
19 i[5y {fE aF L b4 9.300 20 MREF HHIK o IWEEL b4 T7.900 19 58 HEH SRC A4 9,000 20 /e Bz L HWn A4 7,600
21 Ok W EO DB ha 9.200 20 TN K HEDSC M4 7.900 19 78 BAk SRC Na79.000 21 W& fZ2A —“EGC 4 7.000
21 A A NF 4 — Jr 49,200 20 ¥ Bk SRC M4 T7.900 19 HR UK SRC /49,000 RE R SRC 4
23 JRIRE AKX MEEOSE  H4 9,150 23 IR UK SRC M4 7.800 19 R HIIA A4 9,000 HER O OTER SRC 4
23 ER K SRC 49,150 23 LN BN A 4 7.800 24 JNE O HRZE Lo5n 4 8.800 Krg  H#E aF IS 4
25 WA Bk SRC A4 9.100 25 KiE Bk CSHFH M4 7.700 25 KpH_HIE aF A 4 8.200 1IN a S IMEEL 4
25 (IR EEK aFIEL 4 9.100 26 | AEA oIS b4 7400 26 Hiy o fbk aFIWES 4 8.100 By Rk aF IS 4
25 JNE O OBRZE EHn A4 9.100 27T INE HRZE EHn 4 7.300 27 IUFAER o JEEL 4 8.000 IF {HEE aFFEL b4
28 KPq  A¥E o IEEL S 4 9.000 28 KWE A oIS ha T7.200 28 HE Bz ZEGC M4 7,700 AR K SRC 4
29 MiZ BE2N TEGC M4 8.800 29 H#% LN TEGC N4 7.000 29 # B HEDSC M4 5,000 WA Bk SRC A
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1 95 C SHFEH A5 9.900 I T fizh WmE®>EB A5 9.600 A C SHFE A5 9.600 1B HKR KHZhiKEE 7 5 9.650
2 IR )f’a“l\ KkmThikE 7 s 9.800 2 bk OKEE R 2=7 5  9.500 2k OREE R 2=7 5 9.550 2 HiE KA R 2=7 5 9.600
3 BT B2 MEEOOE s 9.750 3 R MK KHZhikE 7 5 9.450 3 BT B2 MiEEOOE 5 9.500 3 BEE OHER KHAER 2 5 9.500
4 Al BRY2=7 5 9.725 4 R HEK KHh A2 5 9,400 4 R K KHDAER 7 s 9,450 4 I OB WEEDSE A5 9.300
5 Al BEK NF 44— Jr 5 9.700 5 KA HEK R o =7 5 9.300 5 _MpT 4 CSHFAG A5 9,400 5 MF _EEZA WEEOHE A5 9.200
5 FE KA R 2=7 45  9.700 6 ALl i R 2=7 A5 9.200 5 ArE LA WEEODFE A5 9.400 6 b K3 R 2=7 5  9.150
7 [E Hm C SHFK M5 9.675 7 K BLFR Ry 2=7 45 9.100 5 [@E Hm C SHH A5 9.400 7 M DA W EOHB 45 9.100
8 R AN KmThikE s a5 9.650 8 S sud 50 M5 9.000 8 R MK KWL E 7 5 9,350 8 Eii HE— HrEDSC A5 9.050
9 B EE EHn A5 9,600 8 HE KA R 2=7 5 9.000 8  Frly SRC M5 9.350 9 mil M R 2=7 5 9.000
9 K EA MEEOIFE A5 9.600 10 K PEK NT 44— Jr 15 8.800 10 A B NF ¢ — Tr N5 9.300 10 KJI BLFH WHY2=7 A5 8900
11 k[ FEKR RS2 =7 N5 9.550 1 [l BEK NF 44— Jr 5 8.700 10 %H ER W& F A5 9.300 11 k[ &K R 2=7 5 8750
12 HAF % C S HF M5 9.500 11 Eil == H»EVSC N5 8.700 10 ki 3 T HRGC A5 9.300 12 ANl OBEK NF 44— Jr A5 8.650
12 EIg =BHK WMEFE 5% A5 9.500 13 B K CSHFH 5 8.600 13 faiH Rt SRC 59,250 13 EIg =X WHEOHE 5 8.600
12 K 5LFH R 2 =7 5 9.500 14 A B WHEOSFE A5 8.400 13 RJI 5LF BRY2=7 A5 9.250 14 gk BEK NF 44— Jr A5 8.500
12 _Hb K3 Ry a=7 45 9.500 165 7riE LA WL NI 15 8.300 13 7Pk R a=7 45 9.250 15 B K CSHIH A5 8.450
16 A BEX NF 4 — Jr N5 9,450 16 Fifn 2 SRC N5 7.700 16 P 5 Ltown 59,200 16 fmijf BEsh SRC N5 8.400
17 faiH RSk SRC A5 9,400 17 kH R T ARGC M5 7,600 16 Fgm R SRC A5 9.200 16 XH TAAGC A5 8,400
17 1 D WEEEODE A5 9.400 18 EI§ HEX MEE 5B A5 7.500 18 & DN NF4— Jr A5 9,150 18 MWpET 4 CSHFH 45 8.350
19 FEE SRC A5 9,350 18 [ A C SHFH N5 7.500 19 Rl HX WLk »5 9,100 19 [ A C SHFE N5 8.200
20 fis 5% SRC A5 9.300 18 FBH SRC A5 7.500 20 Eyl @ HEVSC A5 9.000 V5 Lo L5 5
21 kil = #ENSC N5 9,250 o1 HIE R SRC 57,400 21 Al RS2 =7 5 8.700 [REAE SRC N5
22 [ B aFIEEL M5 9.100 22 HWpT C SHFH M5 7.300 22 kA HEK R 2=7 /5  8.600 HhE R aF ML s
23 kI B TARGC A5 9.000 23 HM e o IEES4 5 6.900 23 HM o e aFIEEL 45 8.000 FeH i SRC N5
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1 ZRE HA R 2=7 26  9.850 1 g —pk Ta AR e 9.900 1 RE B R 2=7 6  9.650 L m MR SRC 6 9.800
2 kMW E: TaA R e 9.800 2 g EA R 2=7 6 9.800 2 KMt —p TaAfEE e 9.600 2 R CEA R 2=7 6 9.700
3 ANl KR SRC M6 9.750 3 kM =Es3f Ta AR e 9.600 3 ROEE SRC 46 9.550 3 /B m CaA AR e 9.200
4 g —p VaAFAREE 6 9.650 4 /e B Va AR e 9.500 4 )N B R 2=7 46  9.500 4 EmN E NF 4 — Jr M6 9.100
5 A i RF 44— Ir 169,625 5 il B R =7 6 9,400 4 RpHE Vo AFEE 6 9.500 4 HHh Rk Ca AR e 9.100
5 R VaABJR e 9.625 6 Al FE SRC A6 9.250 6 Al HE SRC M6 9.450 6 KW =3} Ta AR 6 9.050
7l R SRC 469,600 7 il HEF R 2=7 A6  9.100 T OBE ORAE S IEEL 6 9.400 TOREE Ca AR e 8.950
TR B TaA R 16 9.600 8 AE B Va AR e 8.900 7 k@ s TaAfBE e 9.400 8 Ml B— R 2=7 46  8.700
9 IE HE Lon M6 9.550 9 Fa BRI} “EGC M6 8.750 9 WA E NRTF 44— Jr 469,350 9 iR K SRC M6 8.650
9 Fils_ HEY  BERYa=7 A6 9.550 10 g KpE SRC 6 8.700 1072l JFIk SRC A6 9.300 10 Fa B} HGC 68,400
11 Zm ek SRC 46 9.500 11 &8 WEAr LHn N6 8.500 11 Ak #EF R 2=7 6 9.250 11 s s 50N 6 7.900
1 i B R 2=7 6 9.500 12 %W [Tk SRC M6 8.300 12 &fF 5LFH o JEEL e 9.200 12 Al HEF R 2=7 6 7.800
13 MR & EHn M6 9,350 12 T w5 50N 68,300 12w K Ta A MR e 9.200 13 M AR LB M6 7.500
14 5P ER SRC A6 9.300 14 Eff R4&E o L e 8.200 14 &A WA LB A6 9.100 14 &AW L5 A6 7.400
14 FfE_ R4 S IYEEL 46 9,300 15 @A 3 ST 44— Jr M6 8,150 14 fl s Lo 469,100 15 & Hith ~HGC M6 7.350
16 %A W Ltown 69,250 16 #15 5L o IS e 7.800 14 P 3R SRC A6 9. 100 Wk ER SRC 76

16 KA M8 aF RS 6 9.250 17 Pk IER SRC M6 7.700 17 KA a S IWEL 6 9.050 ZH  [EIk SRC /16

18 EfF 5L oL e 9.200 18 MR &= EHn M6 7.500 18 45 B LB A6 9.000 NI oL e

19 KW ®FH o IWEEL e 9.100 19 & thit “EGC M6 7,400 19 ¥Aa ER} ZEGC A6 8.900 =fE LA aF s e

20 ¥f K ZEGC A6 9. 050 20 KA Bt aF IWEEL A6 7,200 20 #ith —EGC 468,800 gL S IMEEL A6

21 & thth ~wGC 46 9.000 21 KW #FE S IfEEs 6 7.000 21 KPg W% aFIWESL 6 8.200 KA Ft ED A=Y AN
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1 e A KSCHHER H2  9.900 R KSCHER +1  9.600 1 Al A R =7 #z  9.800 1 ejE A KSCHER +2z 9.750
2 JEE xR THAXGC #3 9,800 2 feiE A KSCH¥EAR #2  9.500 2 I MR THAXGC #3 9,750 2 PR R WRY2=7 #1  9.700
3 =W K C S #HF7 dz 9,750 3 UEE R TARGC F3 0 9.300 3 MR A KSCHESR +2  9.700 3 LR &4 R o =7 #3  9.650
4 Hb KSC#H¥ER +1  9.725 4 RS T BRY2=7 #1  9.200 4 kS AT BRY2=7 @1  9.650 4 JEE R TAXGC 3 9.600
5 kAT ALY o =7 %1 9700 5 HRE e EHW $3 9.100 5 MBR 2B ERYa=7 41 9.600 5 ftH & ALY 2 =7 #2955
5 KH 95k WmEOHE  #1  9.700 5 ik R S IS F3 0 9.100 5 M A&l C SHFH F2 9,600 6 Sk i KSCHHER #1  9.450
5 A KB Lo 2 9.700 7 LA KB LB iz 8.900 7 JRE i C SHFH F3 9.550 7 JRHE CSHFH F3 0 9.300
8 JRM C SHFH #3 9,675 7T VeRE CE ST RN w1 8.900 7T HE R KSC#H¥ESR +1  9.550 8 BRE HZE ®WRYa=7 #1  9.200
9 KA FomE C SHFH 2 9.650 9 R ER LB B 8.800 9 T Kk R 2=7 #3  9.500 9 B B BN A 2 9.100
10 fBJE o) #RYa=7 w1 9.600 9 Il A& BRYa=7 #3  8.800 10 ¥R BL LHn $2 9,450 10 _KH__HpEE WL OHFH  F1 9.000
10 e R S F IEEL 3 9.600 11 P Kk BER Y 2= w3 8.700 11 e R a7 gL s 9.400 11 Kfi FofE CSHIH fz 8.950
12 f[iE 2 R a=7 w2z 9.575 12 JiE CSHFH #3  8.500 12 HBR B bIeA F2 9,350 12 B K BRY=2=7 #3  8.800
13 (iR &4 FERY =7 #3  9.550 13 fiH 2 FERY =7 2 8.450 12 BR s Lo 3 9.350 13 PR RBE Lo F1 0 8.500
13 R L LB F2 9,550 14 JoAR REHE ST RUNE 1 8.400 4 N EE o IEES S 1 9.300 14 AR KB LHn d2 8,400
16y vk SRC #1 9,500 15 KA fnys CSHIH 2 8.300 14 SR RR EH #19.300 15— f&if CSHTH 2 8.200
15 I KK R 2=7 H3  9.500 16 &k Bl LB iz 8,000 14 ik &4 R 2=7  #3  9.300 16 =R HhE L5 @3 8. 150
15 =R e Lhn 3 9.500 16 KH B WMEFL 9% w1 8.000 14 Kk HEKR aFIEE4 ks 9.300 17 g E ST RN 1 8.100
18 WBEHE A Lo #3 9,450 16 JkHH EEK oF IEEL #3 8.000 18 KA Foy C SHFE f2 9,250 18 JuAk  EhL ST RUN 1 8.000
18 BN Biff B oX ) H2 9,450 19 N EF aFEEL 1 7.900 18 BH LB F3 0 9.250 19 ¥R BBt LHWn 2 7.950
20 JEIDBMIRER L HW 19,400 20 MR EZB) #RYo=7 @1 7,700 20 fEIE XE R F1 9,200 20 VAH_H Lo 3 7.900
20 kI FEX a4 s 9.400 21 B B bI A 2 7.500 21 P HRKES L5 BT 9,150 21 PO HRKES 50N BT 7.650
22 N EE o IEEL S 1 9.300 22 FEDOERARR Lo w1 7.400 21 KW BEE WLk  #1 9,150 22 /R EIE LB w1 7.500
22 e B BERR LN F19.300 23 VHMH Lo w3 7.300 23 LA K Ebn 29,100 23 EHibR piiERk SRC 1 7.350
24 JNRJEIE Lo5n F19.200 24 Hh FEEER SRC F1 0 7.000 24 JNRJEIE Lo5n F19.050 I ok R a=7 2

24 SPR KRB EH0n 19,200 24 [ f&if C SHTH% 2 7.000 25 S E S IMEEL k2 9.000 IR 5 o IMEEA e

26 JLA Rk JERRZS F19.100 26 /N JEIE 50N w1 6.900 25 gL RHE JERSSEY F1 9,000 TN o Tl

27 I S YEEL 2 9.000 27 W aF IYEEL w2 6.500 27 EE R SRC Bl 8.800 K OHEA SF IEEL w3



